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(4) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
1) Imbrb àíZmV Mma {dYmZo hr VrZ AZw‘mZo I, II d III gh {Xbobr AmhoV. Vwåhmbm {Xbobr {dYmZ gË¶ ‘mZmd¶mMr

AmhoV Am{U {Xboë¶m {dYmZmZwgma H$moUVr AZw‘mZo Vm{H©$H$ÑîQ>çm H$mT>Vm ¶oVmV Vo R>adm?
{dYmZo … H$mhr {~¶m ’w$bo AmhoV. gd© ’w$bo PmS>o AmhoV.

gd© PmS>o nmZo AmhoV. H$mhr nmZo emIm AmhoV.
AZw‘mZo … I) H$mhr emIm ’w$bo AmhoV.

II) H$mhr nmZo {~¶m AmhoV.
III) H$mhr nmZo ’w$bo AmhoV.

n¶m©¶r CÎmao …
1) I d II H$mT>Vm ¶oVo. 2) I d III H$mT>Vm ¶oVo
3) II d III H$mT>Vm ¶oVo 4) gd© AZw‘mZo I, II d III H$mT>Vm ¶oVmV.

1) In a following question, 4 Statements followed by 3 Conclusions I, IT and III are given. You have

to take the given Statements to be true and decide which of the given Conclusions logically

follows from given Statements.

Statements : Some seeds are flowers. All flowers are trees.

All trees are leaves. Some leaves are branches.

Conclusions :

I) Some branches are flowers.

II) Some leaves are seeds.

III) Some leaves are flowers.

Answer Options :

1) I and II follow 2) I and III follow 3) II and III follow 4) All I, II and III follow

2) A§YmamV ~mBH$gdmar H$aVmZm ‘r nmR>r‘mJMo XmoZ ~mBH$ {Xdo dmnaVo. PiH$Ê¶mÀ¶m {ñWVrV XmoÝhr {Xdo ho {Z¶§{ÌV
Ho$boë¶m H$mbmdYrZwgma Am{U H$mbm§VamZwgma gVV àH$m{eV hmoVmV. ¶m ì¶dñWo‘wio XmoÝhr{Xì¶m§Mm Z M‘H$Ê¶mMm
H$mbmdYr H$‘r hmoVmo {edm¶ Oa ¶m§À¶mn¡H$s EImXm {Xdm PiH$m¶Mm Wm§~bm Varhr ‘r añVm dmnaUmè¶m BVam§Zm {Xgy
eH$Vo. EH$ {Xdm gVV EH$ goH§$X M‘H$Vmo Am{U Z§Va EH$ goH§$X {dPVmo. Xþgam {Xdm XmoZ goH§$X M‘H$Vmo Am{U Z§Va
XmoZ gH|$X {dPVmo. ~mBH$gdmarÀ¶m gwédmVrbm ‘r Zoh‘r XmoÝhr {Xdo EImM doir Mmby H$aVo.
ho XmoÝhr {Xdo dmnabo OmV AgVmZm àË¶oH$ {‘{ZQ>mV Ë¶mn¡H$s EH$hr M‘H$V Zmhr Ago {H$Vr goH§$X AgVmV Vo Xe©dUmam
n¶m©¶ {ZdS>m.
1) 10 2) 12 3) 15 4) 20

2) I use two rear bike lights while riding in the dark. In flash mode both lights are continuously

illuminated for a controlled duration and interval. This arrangement reduces the duration of both

lights being off and also allows me to be seen by other road users if one of them stops flashing.

A lamp flashes continuously for one second and then goes out for one second. The second light

flashes for two seconds and then goes off for two seconds. I always turn on both lights at the

same time at the beginning of a bike ride.

Select the option that indicates the number of seconds each minute that neither of these lights is

lit when both are in use.

1) 10 2) 12 3) 15 4) 20



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ~w{Õ‘mnZ MmMUr d A§H$J{UV    / 21

3) {Xboë¶m {dYmZmgmR>r AZw‘mZ Vnmgm d ¶mo½¶ n¶m©¶ {ZdS>m.
{dYmZ … gd© ‘mZd dmK AmhoV.

gd© ‘mZd hþema AmhoV.
AZw‘mZ … I) gd© hþema ‘mZd AmhoV.

II) gd© dmK ‘mZd AmhoV.
III) dmK ZgUmao hþema ZmhrV.
IV) H$mhr dmK hþema AmhoV.

n¶m©¶r CÎmao …
1) AZw‘mZ I 2) AZw‘mZ II 3) AZw‘mZ III 4) AZw‘mZ IV

3) Check the conjecture for the following statements and select correct option.

Statement : All humans are tigers.

All humans are clever.

Conjecture : I. All clevers are humans.

II. All tigers are humans.

III. Those who are not tigers are not clever.

IV. Some tigers are clever.

Answer options :

1) Conjecture I 2) Conjecture II 3) Conjecture III 4) Conjecture IV

4) AcrH$S>o gd©gmYmaUnUo XrK© H$mi H$m‘ Am{U X¶Zr¶ nJma hr n[apñWVr ñdrH$macr OmV Amho na§Vw Ë¶mMm KaJwVr
OrdZmda J§̂ ra n[aUm‘ hmoV Amho. ho H$mhr Mm§Jco {MÌ Zmhr : VUmdm§Mr Cƒ nmVir Am{U qMVm ¶m ~m~r Am{W©H$
ì¶dñWoV gm‘mÝ¶ AgVmV H$maU ¶m§V Ë¶m§Zr ñdV:À¶m doiodaMo {Z¶§ÌU J‘mdë¶mZo Vo cmoH$ AmOmar nS>VmV, c¾o
‘moS>VmV Am{U ‘wcm§Zm Ìmg gmogmdm cmJVmo. Var XoIrc ¶m n[apñWVrV amOH$maUr Amnë¶mcm Q>mù¶m dmOdm¶cm
{Z‘§{ÌV H$aVmV. "" à¶ËZm§Mr namH$mð>m H$aUmao" Am{U "H$ï>H$ar cmoH$", Varhr em§V ahmUmao (JmaR>coco), H$miOr
KoUmao ‘mVm {nVm åhUyZ Vo Amncr ñVwVr H$aVmV. {OVH$m OmñV doi AmnU H$ï> H$aVmo VodT>çm A{YH$ à‘mUmV
àe§gZr¶ AmhmoV Ago ‘mZco OmVo. åhUOoM amOH$s¶ KmofUm ñnï>nUo n[aUm‘H$maH$ AmhoV na§Vw Ë¶mVyZ ‘mOcoco H$ï>m§Mo
Xoìhmao Amnë¶mcm nrS>m XoV AmhoV.
nwT>rc n¶m©¶m§VyZ darc ¶w{º$dmXmMo AmYma ŷV J¥hrVH$ {ZdS>m.
1) amOH$s¶ KmofUm cmoH$m§À¶m X¡Z§{XZ dV©Zmda cjUr¶ n[aUm‘ H$aVmV.
2) H$m¶© AmR>dS>çmMr nwZ‘mªS>Ur H$aUo AW©ì¶dñWogmR>r cm^Xm¶r R>aooc.
3) H§$nÝ¶m ñdV:À¶m H$m‘H$mam§Zm H$‘r H$m¶©H$mcmdYr qH$dm Mm§Jcm nJma XoD$ eH$VmV.
4) H$m‘mÀ¶m {R>H$mUr H$‘r VmU AZŵ dUmao cmoH$ Mm§Jco nmcH$ AgVmV.

4) Long hours and poor pay have become commonly accepted, but they are taking a heavy toll on life

at home. It is not a pretty picture: an economy where high levels of stress and anxiety are normal,

where people get ill because they have lost control of their time and where marriages are damaged

and children suffer. Yet it is a situation that politicians invite us to applaud. They praise ‘strivers’

and ‘hard-working people’, not chilled-out, caring mums and dads. The longer and harder we

work, the more admirable we are supposed to be. So the political slogans have clearly been

effective, but the resulting glorification of work has made us miserable.

Select one of the following that is underlying assumption of the above argument.

1) Political slogans significantly affect people’s everyday behaviour

2) Restructuring the working week would be beneficial for the economy

3) Companies could afford shorter hours or better pay for their employees

4) People who experience less stress at work are better parents
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5) T>mo‘obm ôQ> {Xbr Voìhm, T>mo‘oMo MbZ ÂPog, Þog, å‘og d {ha©g ¶m Mma àH$maÀ¶m ZmÊ¶m§Mo ~Zbobo Amho Ago ‘bm
AmT>ibo. ‘bm gwédmVrbm àË¶oH$ ZmÊ¶mÀ¶m gmnoj qH$‘VrMr H$mhrhr H$ënZm ZìhVr. VWm{n ‘mÂ¶m ¶oWrb AmJ‘ZmZ§Va
bJoMM ‘mÂ¶mH$S>o XmoZ {ha©gÀ¶m ~amo~a EH$ ÂPog Am{U EH$ Þog ¶m§Mr AXbm~Xb hmoB©b H$m¶ Aer {dMmaUm Pmbr.
Ë¶mZ§Va WmoS>çmM H$mbmdYrZ§Va ¶mgmaIrM VrZ {ha©g ~amo~a EH$ å‘og d Þog ¶m§Mr AXbm~Xb ‘r H$aoZ H$m¶ Aer
{dZ§Vr Ho$br Jobr. ‘mÂ¶m ¶m doJù¶m AZŵ dm§À¶m AmYmao ’$º$ EH$ ImÌrMm n¶m©¶ {ZdS>m.
1) EH$m ÂPogMo ‘mob EH$m Þognojm OmñV Amho. 2) EH$m ÞogMo ‘mob EH$m å‘ognojm OmñV Amho.
3) EH$m å‘ogMo ‘mob EH$m {ha©gnojm OmñV Amho. 4) EH$m {ha©gMo ‘mob EH$m ÂPognojm OmñV Amho.

5) When I visited Dhome, I discovered that the Dhomes currency consists of four different coins,

known as zzes, nnes, mmes and hirrs. I had no idea, at first, of the relative value of each coin.

However, shortly after my arrival I was asked if I could exchange a zzes and a nnes for two hirrs,

and a short time later a similar request involved the exchange of a mmes and a nnes for three

hirrs. Based on my encounters, select the only one of the following that can be confirmed.

1) A zzes is worth more than a nnes 2) A nnes is worth more than a mmes

3) A mmes is worth more than a hirrs 4) A hirrs is worth more than a zzes

6) nwT>rb {dYmZm§À¶m AmYmao Imbrbn¡H$s H$moUVo {ZîH$f© H$mT>Vm ¶oB©b?
{dYmZ I … gd© noZ ~§XþH$m AmhoV.
{dYmZ II … H$mhr nwñVHo$ noZ ZmhrV.
{dYmZ 1 … gd© ~§XþH$m nwñVHo$ AmhoV.
{ZîH$f© 2 … H$mhr nwñVHo$ ~§XþH$m ZmhrV.
n¶m©¶r CÎmao …
1) ’$º$ 1 2) ’$º$ 2 3) (1) d (2) XmoÝhrhr  4) (1) d (2) XmoÝhrhr ZmhrV

6) Which of the following conclusions can be drawn based on the following statements?

Statement I : All pens are guns.

Statement II : Some books are not pens.

Statement 1: All guns are books.

Conclusion 2: Some books are not guns.

Answer options :

1) Only 1 2) Only 2 3) Neither (1) nor (2)    4) Neither (1) nor (2)

7) H$m~©Z CËgO©Z KQ>dÊ¶mMo bú¶ JmR>Ê¶mgmR>r EH$m XoemMo emgZ YmoaU åhUyZ ¶m dfm©À¶m Z§VaÀ¶m H$mimV B§YZ H$a
bmJy H$aÊ¶mMm {dMma H$aV Amho. ‘mJrb ‘{hÝ¶m§V bmJy Ho$boë¶m B§YZ H$am‘wio noQ´>mobÀ¶m d {S>PobÀ¶m XamV Pmboë¶m
30% dmT>r‘wio JmS>rMmbH$m§Zm Am{U añVm n[adhZ H§$nÝ¶m§Zm Ìmg ghZ H$amdm bmJV Amho. VobmÀ¶m Cƒ Xam§‘wio
VobgmR>çm§VyZ {‘iUmè¶m OmXm ‘hgwbmnmoQ>r Joë¶m ghm ‘{hÝ¶m§nmgyZ emgZmMr bjmdYtMr Mm§Xr hmoV Amho. B§YZ H$amV
A{YH$Mr dmT> hr gd© Hw$Qw>§~m§Zm AmoPo R>aob H$maU X¡Z§{XZ OJÊ¶mÀ¶m Jmoï>tÀ¶m qH$‘VrV Am{U ‘hmJmB©V dmT> hmoB©b.
åhUyZ emgZmZo B§YZ H$a dmT>dÊ¶mMo YmoaU A§‘bmV AmUy Z¶o.
darb ¶w{º$dmXmnmR>Mo J¥hrVH$ nwT>rb n¶m©¶m§VyZ {ZdS>m.
1) bmoH$m§À¶m {Iem§da n[aUm‘ H$aÊ¶mnojm H$m~©Z CËgO©Z H$‘r H$aÊ¶mMr JaO H$‘r ‘hÎdmMr Amho.
2) B§YZmÀ¶m ’$ma ‘moR>çm qH$‘Vr amoOÀ¶m dmnamVrb dñVy§À¶m {H$‘Vtda n[aUm‘ H$aV AmhoV Am{U Ë¶m H$‘r Ho$ë¶m

nm{hOoV.
3) H$m~©Z CËgO©Z H$‘r H$aUo ho Cƒ B§YZ H$amMo EH$‘od g‘W©Z Amho.
4) B§YZ H$am§Vrb dmT>rMm añVo n[adhZ H§$nÝ¶m§À¶m ì¶dgm¶mda dmB©Q> n[aUm‘ hmoB©b.
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7) A country's government plans to introduce a fuel tax later this year as a strategy to meet carbon

emission reduction targets. Motorists and road transport companies are suffering due to the 30%

hike in petrol and diesel prices due to the fuel tax imposed in the past months. The government

has been making millions of silver for the past six months due to the excess revenue from oil

reserves due to high oil prices. A further increase in fuel tax will be a burden on all households as

the cost of daily living will increase and inflation will increase. Therefore, the government should

not implement the policy of increasing fuel tax.

Select the hypothesis behind the above argument from the following options.

1) The need to reduce carbon emissions is less important than the impact on people's pockets.

2) Very high fuel prices are affecting the prices of daily consumption goods and should be brought

down.

3) Reducing carbon emissions is the only justification for higher fuel taxes.

4) Increase in fuel taxes will adversely affect the business of road transport companies.

8) 2011 gmcr OnmZ‘Ü¶o ’w$Hw${e‘m AUw D$Om© ¶§ÌUoV AnKmV Pmcm hmoVm. ¶m‘wio ¶m ^mJmV {H$aUmoËgJu ßcwQ>mo{Z¶‘
{dIwacm Jocm Am{U emgZmcm Odinmg nmM cmI cmoH$m§Zm Ë¶mVyZ {dñWm{nV H$amdo cmJco. {H$aUmoËgJm©À¶m g§nH$m©V
Amamo½¶mcm nmohmoMUmè¶m Ymo³¶mnmgyZ gwa{jV R>odÊ¶mgmR>r, ¶m ^mJmV nwÝhm naVm¶cm cmoH$m§da ~§Xr KmcÊ¶mV Amcr.
nU ’w$Hw${e‘mgma»¶mM MoZm}{~c ¶oWo KS>coë¶m VemM n[apñWVrÀ¶m Aä¶mgmZo, Oar ì¶º$s¨Mo gamgar Am¶w‘m©Z KQ>co
Var Ë¶mcm nyU©nUo {H$aUmoËgJm©‘wio Pmcocm H$H©$amoJ H$maUr ŷV ZìhVm Ago XmIdyZ {Xco. OÝ‘^amÀ¶m {Zdm©{gVVo‘wio
Amcocr {eÞ‘ZñH$Vm, XméMo ì¶gZ Am{U AmË‘hË¶m hr KQ>coë¶m Am¶w‘m©ZmMr à‘wI H$maUo hmoVr. åhUOoM H$m¶‘À¶m
{Zdm©{gVo‘wio Pmcoco ‘Zmod¡km{ZH$ n[aUm‘ H$Xm{MV {H$aUmoËgJm©À¶m emar[aH$ n[aUm‘m§nojm A{YH$ J§^ra hmoVo.
{H$aUmoËgJm©À¶m gwa{jVVm nmVir~Ôc d¡km{ZH$m§V gh‘Vr Zmhr ho cjmV KoÊ¶mMr JaO Amho. åhUyZ AmVm BÀN>m
Agë¶mg ’w$Hw${e‘m {Zdm©{gVm§Zm ñdV:À¶m ‘yi {ZdmgmV naVm¶Mr ‘moH$irH$ {Xcr nm{hOo.
darc ¶w{º$dmXmMm gdm©V CÎm‘ àH$mao à‘wI {ZîH$f© ì¶º$ H$aUmao nwT>rcn¡H$s EH$ {dYmZ {ZdS>m.
1) {H$aUmoËgJm©À¶m g§nH$m©À¶m n[aUm‘r {Z‘m©U hmoUmè¶m H$H©$amoJmMm YmoH$m A{Va§{OV Ho$cm OmVmo.
2) {H$aUmoËgJm©À¶m gwa{jVVm nmVir{df¶r d¡km{ZH$m§V gh‘Vr Zmhr.
3) Ooìhm cmoH$m§da ñdV:Mr Kao H$m¶‘Mr gmoS>Ê¶mgmR>r ~iO~ar Ho$cr OmVo Voìhm Ë¶m§Mo Am¶w‘m©Z KQ>Vo.
4) Oa cmoH$m§Zm {H$aUmoËgJm©Mm YmoH$m ‘mhrV Agoc Va AnKmVmMr OmJm H$m¶‘Mr gmoS>m¶Mr dm Zmhr ¶mMr {ZdS>

cmoH$m§Mr Agm¶cm hdr.
8) In 2011, there was an accident in Japan at the Fukushima Atomic Power Plant. This caused dispersion

of radioactive Plutonium in the area and government had to evacuate nearly half a million people.

These people were prohibited from returning to the area for protecting them from bealth risks of

radiation exposure. But according to studies of situation at Chernobyl, that was similar to

Fukushima situation showed that though average life expectancy of evacuated persons was reduced,

it was not totally because of cancer caused by radiation. Major causes of reduced life expectancy

were depression, alcoholism, and suicide due to lifelong evacuation. Thus permanent evacuation

resulted in psychological effects that might be more severe than the physical effects of radiation.

It is necessary to note that there is no agreement among scientist about safety level of the radiation.

Therefore now Fukushima evacuees should be allowed to return to their original dwellings if they

are willing.

Select one of the following statement that best expresses the main conclusion of the above argument.

1) Risk of cancer resulting due to exposure to radiation is highly exaggerated

2) Scientist disagree about a safety level of radiation

3) Life expectancy is reduced when people are forced to abandon their homes permanently

4) Whether to evacuate accident area permanently or not should be the peoples' choice, if they

know the risk of radiations.
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9) Joë¶m AZoH$ XeH$m§V A XoemH$Sy>Z B XoemZo ~Zdcoë¶m dmhZm§Mr ‘mJUr dmT>cr Amho. ‘mÌ  A XoemZo ~Zdcoë¶m dmhZm§Mr
B XoemH$Sy>Z hmoUmar ‘mJUr JmoR>cocr Amho. B À¶m CËnmXH$m§H$S>o daMT> àm¡Úmo{JH$s Agë¶m‘wio gwédmVrcm hr V’$mdV
ñdrH$mamh© hmoVr d Ë¶mVyZ B§YZ-H$m¶©j‘, ñdñV XoI^mcrÀ¶m dmhZm§Mo CËnmXZ Pmco. dmñVdmV AmVm A Mr dmhZo ¶m
JwUm§g§X^m©V, qH${MVerhr OmñV Mm§Jcr Zgcr Var VwcZoZo Odinmg gmaIrM AmhoV.  B XoemMo MmcH$ añË¶m§À¶m
S>mì¶m ~mOyZo dmhZo MmcdVmV ¶m ~m~rMr XIc KoÊ¶mV A XoemMo CËnmXH$ An¶er R>aco AmhoV. ì¶mnmamVrc ho Ag§VwcZ
H$‘r H$aÊ¶mcm hmV^ma cmJÊ¶mgmR>r A XoemÀ¶m CËnmXH$m§Zr COì¶m ~mOyMr diU MH«o$ Agcocr A{YH$ dmhZo CËnm{XV
H$am¶cm hdrV ho ñnï> Amho.
n¶m©¶r CÎmao :
1) Oa A  Xoe COì¶m diU MH«$mMr dmhZo ~Zdoc, Va B  XoemMo  J«mhH$ A XoemH$Sy>Z dmhZo IaoXr H$aUo ng§V H$aVrc.
2)  B XoemMo J«mhH$ añË¶mÀ¶m S>mì¶m ~mOyZo dmhZo MmcdV AgVrc, Va dmhZmÀ¶m S>mì¶m ~mOycm diU MH«$ ~gdcocr

dmhZo IaoXr H$aÊ¶mH$S>o ¶m J«mhH$m§Mm H$c H$‘r AgUma.
3)  A  Xoe ñdV:À¶m dmhZm§Mr B§YZ-H$m¶©j‘Vm dmT>dUo d Ë¶m§Mm XoI^mc IM© KQ>dUo ¶m gwYmaUm H$aUo Mmcy R>odoc.
4) ñdV:À¶m gd© ZmJ[aH$m§Zr COdr diU MH«o$ Agcocr dmhZo IaoXr H$amdrV ho B XoemÀ¶m àemgZmcm hdo Amho.

9) Over the last several decades, the demand for Country B's automobiles increased in Country A

but demand for Country A's automobiles in Country B has remained stagnant. Initially, this disparity

was plausibly due to B's  manufacturers having superior technology, which has yielded more fuel

efficient cars with cheaper maintenance. However, now Country A's cars are comparable - if not

slightly superior - in these respects. Country A's manufacturers fail to acknowledge that Country

B's drivers drive on the left-side of the road. Clearly, to help lessen this trade imbalance, Country

A manufacturers should produce more cars with right-side steering wheels.

Select the one of the following which is an ssumption made by the argument.

1) If Country A makes automobiles with right-side steering wheels, most consumers from Country

B will chose to purchase a car from Country A.

2) If consumers from Country B drive on the left-side of the road, these consumers are less

inclined to buy steering wheels found on the lef-side of the car.

3) Cars from Country A will continue to improve their fuel efficiency and reduce their maintenance

costs.

4) The government of Country B requires all its citizens to purchase cars with right-side steering wheels.

CÎmao : (4) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©

1-3 2-3 3-4 4-1 5-3 6-4 7-1 8-4 9-3


